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General Instructions :
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(vi)
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The question paper comprises two sections, A and B. You are to attempt
both the sections.

All questions are compulsory.
There is no choice in any of the questions.

All questions of Section A and all questions of Section B are to be
attempted separately.

Question numbers 1 to 3 in Section A are one mark questions. These are
to be answered in one word or in one sentence.

Question numbers 4 to 6 in Section A are two marks questions. These are
to be answered in about 30 words each.

QB365-Questiorr Bank Software




(vii)

(viii)

(ix)

(x)

31/2/3

0B365-Question Bank Software

Question numbers 7 to 18 in Section A are three marks questions. These

are to be answered in about 50 words each.

Question numbers 19 to 24 in Section A are five marks questions. These
are to be answered in about 70 words each.

Question numbers 25 to 33 in Section B are multiple choice questions
based on practical skills. Each question is a one mark question. You are
to select one most appropriate response out of the four provided to you.

Question numbers 34 to 36 in Section B are two marks questions based on
practical skills. These are to be answered in brief.

T A
SECTION A

UeehTSHl h! THSITA H0fT 3 U8c] HG& ! A8 3T 39 710k ¥ fafau |

Write the name and molecular formula of the first member of the
homologous series of alkynes.

T =R 2
What is DNA ?

JTehfdeh ARG o Gl 3aTetvli shi =t sHs |

List two examples of natural ecosystem.

ATfehd 3TRE EiTht ATHI H SEUIT T T T HIT |

Draw a labelled diagram to explain the formation of a rainbow in the sky.

TTehfdeh THTEHT o FUING o= & & @ fAfay | 9300 3R -9 |
H HH-HT g 8§ A ?

Write two advantages of sustainable management of natural resources.
Out of the two — reuse and recycle — which is better and why ?

ST o W ST o €9 H HL&U o IR AT ohl =t ST |

List four advantages of conserving water in the form of ground water.
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Write the name and structural formula of the compound formed when
ethanol is heated at 443 K temperature with excess of conc. HoSO4. What

is the role of conc. HySO,4 in this reaction ? Also give the chemical

equation for the reaction.

HEfIeh Alfehi b ThMEIHS THg § R arcqd g ? MHfaiad Il
LTS A 3R Ik TehITcHeh HHg i NIl o &9 § fARaT :

i) T
(ii) UIHEH 3T

What is meant by functional group in carbon compounds ? Write in
tabular form the structural formula and the functional group present in
the following compounds :

(1) Ethanol
(i1) Ethanoic acid

IR aF P, Q, R 3R S MgfHeh Tad Irufl & el Tad o TG&d & adl $1eh
STRIAH hIST H Soiari-l ohl T&AT ShAS: 1, 3, 5T 78 | Q AN R o TRHTIA
T G- fo=me forgent geht Tasrehar feifa $ifse | P 3t S gam &
T Tt Afies 1 oAfveas g faaRaw |

Four elements P, Q, R and S belong to the third period of the Modern

Periodic Table and have respectively 1, 3, 5 and 7 electrons in their
outermost shells. Write the electronic configurations of Q and R and
determine their valences. Write the molecular formula of the compound

formed when P and S combine.
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(i)
(ii)
(iii)
(iv)
V)

39 o k1 9 fAIRau St hadl TgEdises Aieh ST & |

39 o o1 A0 ToaRay freh! gersierar i 8 3fiteg g 2 |
38 dxd w1 W fafay frmehl Sisshdr @7 & 3t 98 31e1g ? |
B 3T C H fermehl wemmy frsom o€t 8 3 =i 2

T D 3R F 5@ 9far & e 8 381 am= 9m fafay |

In the following table, the positions of six elements A, B, C, D, E and F
are given as they are in the Modern Periodic Table :

Group
-1 2 3—12 | 13 | 14| 15 | 16 | 17 | 18
Period {
2 A B C D
3 E F

On the basis of the above table, answer the following questions :

1)
(ii)
(iii)
(iv)
)

Name the element which forms only covalent compounds.
Name the element which is a metal with valency three.
Name the element which is a non-metal with valency three.
Out of B and C, whose atomic radius is bigger and why ?

Write the common name for the family to which the elements D
and F belong.
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Draw a diagram of the longitudinal section of a flower exhibiting
germination of pollen on stigma and label (i) ovary, (ii) male germ-cell,
(iii) female germ-cell and (iv) ovule on it.

IRk Y o fehegl diF Tl <hl ST <hifag |

Explain any three advantages of vegetative propagation.

TAH-CT T 8 ? HHG] H 39k hi <hl AT hifaU |

What is placenta ? Explain its function in humans.

“Uar Fvra B o6 IS AeI01 S9Ta O B S Weg A%k 7 81 9T |7 39 e <t
i T I IGTETN gL HITT |

“It is possible that a trait is inherited but may not be expressed.” Give a
suitable example to justify this statement.

“Toreft It ok TTS] 1 X 31erET HIGT BT HIE AN B |7 Th TETE NG Gt
39 HIA 1 giE HIfvT |

“It is a matter of chance whether a couple will have a male or a female
child.” Justify this statement by drawing a flow chart.

g O [HHT GUUN & Yo § HHST sl ST Hl 20 cm G T TWH 3I6h

wfcfera 1 g9o1 & 80 em g T & 9 W wafid e =mea 7 |

() B fFE THR &1 U I HET =Y 2

(i) 99 a1 it sl 3TEE JTd hIfT |

(i) fora 3T 3@e wlifoe o &= 1 gt J HiT |

(iv) 39 Jopul H Sfdfems s=A1 91 o fofu we foptor o Eiaet forar 3ik
% it % s 1 g0l siftea IR |

A student wants to project the image of a candle flame on a screen 80 cm

in front of a mirror by keeping the candle flame at a distance of 20 cm

from its pole.

1) Which type of mirror should the student use ?

(i)  Find the magnification of the image produced.

(iii) Find the distance between the object and its image.

(iv) Draw a ray diagram to show the image formation in this case and
mark the distance between the object and its image.
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What is meant by advance sunrise and delayed sunset ? Draw a labelled
diagram to explain these phenomena.

18.  “ITER ST@erel H HoAl YaT8 Hed Ui Bl & |7 38 H9A i gfee Hifvw |
Trse HIY fop digeh e fhd TR SATER sf@atsti § Y9 ieh gAR TR ¥
gd 4 2 | 3
“Energy flow in food chains is always unidirectional.” Justify this

statement. Explain how the pesticides enter a food chain and
subsequently get into our body.

19. SIfI-3¢Ha T 7 ? AMd-3g9d H FgRIh IR I bl §II S5 | 7 Hiehi |
¥ SH-A @i et % 9"l % A1fd-3eWd 1 Y@ HNH 6l @l
HehdT ? TIT T | 5

What is speciation ? List four factors that could lead to speciation. Which
of these cannot be a major factor in the speciation of a self-pollinating
plant species ? Explain.

20. (a) feu U R@ #H A, B, C 3R D i Y841+ 37T 3 7 foiRau |

(b) YT Toh8 hEd & ? SHRT Hewd THESyY |
(¢c) o § Tyu=m <1 ufsham @WesT | 59 % 39 W @1 AW fofEe S

o= & qeEmq
() o § fyefaa g g,
(i) %o H fIwiyd g1 a1 @ | 5
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(a) Identify AT B, Can ?r‘f % glge% 1a§1(') Iflag gvrite their names.

(b)  What is pollination ? Explain its significance.

(c) Explain the process of fertilisation in flowers. Name the parts of
the flower that develop after fertilisation into

1) seed,

(i)  fruit.
forelt g 1 GHdT ¥ 1 9l § 2 SHeRl UH.STE. (S.1.) " =l 7 ? T
TR h iH ohl &HAT TR Bl & ?
s g fopelt forar 1 areafesh, 3ol 3R 0N TR (1SH) 1 Sfdafera <@
" 40 cm G T SAMI @ | ©F I Yol 3T GHAT 1 7 ? U I H G
o feptor s i |
What is meant by the power of a lens ? What is its S.I. unit ? Name the
type of lens whose power is positive.
The image of an object formed by a lens is real, inverted and of the same
size as the object. If the image is at a distance of 40 cm from the lens,
what is the nature and power of the lens ? Draw ray diagram to justify
your answer.

1S B A YU gRT HIHe] bl SaTall 1 Yfdfers Tod Y& W Hiehibd il
7 | aifeufa = fdu U ogeR 2
SITAT <hl AFITE = 1-5 cm
E&Wﬁ@ﬂw‘&[@:&cm
Wﬁ?&ﬂﬁ@:lScm
Jfg SaTeAT gl o &I A o A 8, Al MEfTRad ol TNt iy
(a)  wiferat < g9or § gt
(b)  Sfdfers &t crwaTg
Il Serer 1 g4 ¥ gl 10 cm X & WY, q1 9§ W HAT QWS 0 ? I I
i gfe 38 gfifeafa & fou fror s it i |
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A student has B1136 £ uie stion Bank 50 Waren a white screen

using a concave mirror. The situation is as given below :
Length of the flame = 1-5 cm
Focal length of the mirror = 12 cm
Distance of flame from the mirror = 18 cm
If the flame is perpendicular to the principal axis of the mirror, then
calculate the following :
(a)  Distance of the image from the mirror
(b)  Length of the image
If the distance between the mirror and the flame is reduced to 10 cm,

then what would be observed on the screen ? Draw ray diagram to justify
your answer for this situation.

23. TMd 97 & FHAfARGd Icdsh 9T 1 S faEu 5
(i) i
(i)  gRdTiE
(iii) ~ gdelt
(iv) e

forerrasiier es & Ul sufth SifHan fudr 9 fifsd 2 | 38 U <l FeE gl
Ted ShiT-AT & TR H 3ieh fehdT ST Hehal & | TTYehT oo™ 39 de & a1
H STTEhdl Icqd i R g o gvATd, ANl GAeH & e IRa wE ®
3T U Toume™ R 39 USi H I I W1 2 | 379 A9 WISl o
a1 iRt 39 qu i H fohE YR I SR Tehd 7 2 foRmeil g 39 TR
& AT & IAH & 32T [T |

State the function of each of the following parts of the human eye :
(1) Cornea

(i)  Iris

(iii))  Pupil

(iv) Retina

Millions of people of the developing countries are suffering from corneal
blindness. This disease can be cured by replacing the defective cornea
with the cornea of a donated eye. Your school has organised a campaign
in the school and its neighbourhood in order to create awareness about
this fact and motivate people to donate their eyes after death. How can
you along with your classmates contribute in this noble cause ? State the
objectives of organising such campaigns in schools.
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3THT B Hh IchE W Soagi-eh [o=aTH I d § | RV od §Y TE
SHITT foh e 3194 AfiRl o FHHT # 389 TR 1 fo=me 39 oty 9 F=9i 7&
T L Fehdl | A AR § S ael Ao 3T Hre ARehi § o
ATEY & ThRI o AW fARgu | R afgd I8 ft oz Sifve o wea A
AT e & et 99 8d 8 |

Elements forming ionic compounds attain noble gas electronic

configuration by either gaining or losing electrons from their valence
shells. Explain giving reason why carbon cannot attain such a
configuration in this manner to form its compounds. Name the type of
bonds formed in ionic compounds and in the compounds formed by
carbon. Also explain with reason why carbon compounds are generally
poor conductors of electricity.

R IRINC)
SECTION B

forel B A 3fadd gUUT GRI SIS o grey o W Wl Hiderchl <l Sare s
few ufdfers 96 T W R | R J quur Sl wieE gl H AR Al
fehean A W S W foiT 36 T o Tlaferd Hl UG T BIhid B hI
goma e | 36 B 1 F1 BT AT ?

(A) U 1 U< E gL EHMAT =T |

(B) U &I UG hl AR TLHMT =M |

(C) Tdur 3R u¢ gl sl <l 3T THMT =M(T |
(D)  hadt UG I & I I 3 THMAT =T |

A student obtained on a screen the sharp image of a candle flame placed
at the farther end of laboratory table using a concave mirror. For getting
better value of focal length of the mirror, the teacher suggested to him to
focus the sun. What should the student do ?

(A)  Should move the mirror away from the screen.
(B) Should move the mirror towards the screen.
(C)  Should move the mirror and screen both towards the sun.

(D)  Should move only the screen towards the sun.
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gfdfers 96 W BIhfHd T B TIE B & | Yo W S a1l I8 Tl

o & @& Sar BT =TiRT 2 1
(A)  Hiar 3R 95d Bl
(B) Hium 3R w1

(C) 3l IR F1
(D) 3 IR §d Bl

While determining the focal length of a convex lens, you try to focus the
image of a distant object formed by the lens on the screen. The image
formed on the screen, as compared to the object, should be

(A) erect and highly diminished
(B)  erect and enlarged

(C) inverted and enlarged

(D) inverted and highly diminished

27. = fou U 9R oM@ # & forud e o fUsH & oA aTeft Tehm fohtur &1 9y
TE T H AT T & ? 1

(A) (B)
(®) (D)
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In which of the following four diagrams is the correct path of a ray of

light passing through a glass prism shown ?

(A) (B)
(9] (D)

28.  hid o TARR TS | TSI Tl Tl fohloT 1 9 FRad s & fore H=
T T8 AR WAeh SHawesti § 8 Haiy el Shia-a1 g ?

oS L

A) (B) ©) (D)

Which of the following is the best experimental set-up out of the four
shown for tracing the path of a ray of light passing through a rectangular
glass slab ?

P

(A) (B) ©) (D)
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29, I BHE TN STt Byt S AR ST
o for T - e 13 NaCl, el 119 CaClz,qT@qFﬁIIIﬁ MgCly

M Tt IV H KC1 shl 99 |13 9iddn 8 | gHeh YT 98 Jcdh qugae! |
feu T | o 91 Hi 8 S TRt wEHe H gt w10 IR o 7 |

el TREHTeTl | WL ST & 2 1
A) IalIl

(B) IIalIIl

) Ialv

(D) II9IV

A student takes 4 mL of distilled water in each of four test tubes I, II, III
and IV, and then dissolves an equal amount of four different salts namely
NaCl in I, CaCl, in II, MgCl, in IIT and KCl in IV. He then adds 8 drops
of the given soap solution to each test tube and shakes the contents of the
test tube 10 times. In which test tubes will enough lather (foam) be

formed ?

(A) TandII
(B) IIandIII
(C) TandIV

(D) IIIandIV
30. I3 B UHIEH 3 hl Uh 8¢ Uadl el foieHd 9 T AR R ara foremd

U W STAdT 8 | 98 I J&T0T hUT foh 1
(A) @ag%mmt@q@wéaﬁ?ﬁﬁmwﬁﬁéqﬁaﬁqﬁ
|

(B) A forens gz fier g1 S 8 3 fren forens 19 o 31 AT ® |

(C) o forenm v | i i &l gar 3R o forena w3 o< 81 St
2|

D) it ofeqw v ¥ w8 ufgdq 781 gar 3R o forens v fiem & S
2|

A student puts a drop of acetic acid first on a blue litmus paper and then

on a red litmus paper. He would observe that

(A)  the red litmus paper turns colourless and there is no change in the
blue litmus paper.

(B)  the red litmus paper turns blue and the blue litmus paper turns
red.

(C) there is no change in the red litmus paper and the blue litmus
paper turns red.

(D) there is no change in the blue litmus paper and the red litmus
paper turns blue.
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(1) g SR 3TEAl T 4 B |

() arfufsran fosor it et yfa 2 |
(III) 38 AMTshaT T FOHT T AT BT B |
aIv) a8 Afufsran Ierfieor srfirfsran 7€t 2 |
T A Tl fewfot e § 2

(A) el [ III

(B) I I3 III

(C) 1L, III 3R IV
(D) had I3 II

While studying saponification reactions, the following comments were
noted down by the students :

D Soap is a salt of fatty acids.

(II)  The reaction mixture is basic in nature.

(III)  In this reaction heat is absorbed.

(IV) This reaction is not a neutralisation reaction.
Which of these are the correct comments ?

(A) TIandIII only

(B) I, IIandIII

(C) II, IIandIV

(D) TIandIIonly

32. Tt weam ©, ool & faftm Sial & U Ud Y@l & HEl &
Hiedl/AaTsel/ /=t 1 &0 HUAT TAT | JU o ITATd BET A qHA TLHTSAT
o fefafigd wqg 91T | w8 @g g
(A)  ueft qern foaeft & 1@
(B) e 3R THICE % T
(C) faaeft 3R IwTeS & @
(D) T, S T Sl & 3T
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In a class, students were asked to observe thé models/slides/pictures of
the skeletons of forelimbs and wings of different organisms. After the
observations the students made the following groups of homologous
structures. Select the correct group :

(A)
(B)
(®)
(D)

Wings of a bird and a butterfly
Wings of a pigeon and a bat
Wings of a butterfly and a bat

Forelimbs of a cow, a duck and a lizard

foreht BT & Wt o IS o YT o fafi v w1 e e o faw wa
T AN o STE9Fh =Xl A9 feu T E 1

(D

A o Sl ol Ta[g ST § fpmet s T aeb o @ i |

AD o i 1 wifen R sHes fafira i =6 dewn Hifs |

(III) T U four & 3o Het & it <fifor |

(IV) 3fafes St =i feprer G | ofiSii Al et el 698 & & o T T
& oo ¥ & sie dfs |

S =T 1 WEl A ©

(A) I LIV, II

(B) I, IV, II

(©) MILI1II,1IV

(D) ML 1IL1,IV

A student is asked to study the different parts of an embryo of pea seeds.
Given below are the essential steps for the experiment :

(I
(ID)
(I1I)
(IV)

Soak the pea seeds in plain water and keep them overnight.
Cut open the soaked seed and observe its different parts.
Take some pea seeds in a petri dish.

Drain the excess water. Cover the seeds with a wet cotton cloth
and leave them as it is for a day.

The correct sequence of these steps is

(A)
(B)
()
(D)

111, I, IV, II
I, IV, I, II
111, 1, 11, IV
I, 11, 1, IV
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e W@l @ | o & o" € gl 30 cm W@ 98 ©E % gE 3R UG W
fore w1 ite gfafers oo LT @ | 96 WX TS Sidfes shi Yepfd (3w, Hie
faafeda, ster) = grft 2 37 T A e % foe fomw ema Eifa |

A student places a 8:0 cm tall object perpendicular to the principal axis of

a convex lens of focal length 20 cm. The distance of the object from the
lens is 30 cm. He obtains a sharp image of the object on a screen placed
on the other side of the lens. What will be the nature (inverted, erect,
magnified, diminished) of the image he obtains on a screen ? Draw ray

diagram to justify your answer.

HI3 B THIeh 3TF o TUIHT T NI HLIET & | STh gHI &au fopu I
Tl WEifesh st & @1 wifaes urgmt fY TR ST | 9 98 39 o § U
ookl WfeAT B3gIoH HIate ATl 8 da o1 il 8 ? his o J&qor fafaw |

A student is studying the properties of acetic acid. List two physical

properties of acetic acid he observes. What happens when he adds a pinch
of sodium hydrogen carbonate to this acid ? Write any two observations.

HE B A H Gpod gRI Scifieh 91 & (= =00 I TRl T@se |§
el g <& W@l & | 98 W8S H Sl $® @l & 3 3TRE@ Giaeht (HHaR)
ST |

A student is viewing under a microscope a permanent slide showing
various stages of asexual reproduction by budding in yeast. Draw
diagrams of what he sees (in proper sequence).
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Strictly Confidential- (For Internal and Restricted Use Only) Secondary School Examination
SUMMATIVE ASSESSMENT - II
March 2015

Marking Scheme — Science (Foreign) 31/2/3

1 The Marking Scheme provides general guidelines to reduce subjectivity in the marking. It carries
only suggested value points for the answer. These are only guidelines and do not constitute the
complete answer. Any other individual response with suitable justification should also be
accepted even if there is no reference to the text.

2. Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be
done according to one's own interpretation or any other consideration. Marking Scheme should
be strictly adhered to and religiously followed.

3. If a question has parts, please award marks in the right hand side for each part. Marks awarded
for different parts of the question should then be totalled up and written in the left hand margin.

4. If a question does not have any parts, marks be awarded in the left hand side margin.

5. If a candidate has attempted an extra question, marks obtained in the question attempted first
should be retained and the other answer should be scored out.

6. Wherever only two/three of a 'given' number of examples/factors/points are expected only the
first two/three or expected number should be read. The rest are irrelevant and should not be
examined.

7. There should be no effort at 'moderation’ of the:marks by the evaluating teachers. The actual

total marks obtained by the candidate may be of no concern of the evaluators.

8. All the Head Examiners / Examiners are instructed that while evaluating the answer scripts, if the
answer is found to be totally incorrect, the (X) should be marked on the incorrect answer and
awarded ‘0’ marks.

9. % mark may be deducted if a candidate either does not write units or writes wrong units in the
final answer of a numerical problem.

10. A full scale of mark 0 to 100 has to be used. Please do not hesitate to award full marks if the
answer deserves it.

11.  As per orders of the Hon’ble Supreme Court the candidates would now be permitted to obtain
photocopy of the Answer Book on request on payment of the prescribed fee. All Examiners/Head
Examiners are once again reminded that they must ensure that evaluation is carried out strictly
as per value points given in the marking scheme.
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MARKING SCHEME Code No. 31/2/3

CLASS X — FOREIGN

Expected Answer/ Value point Marks | Total
SECTION - A
Q1. Ethyne Ya
C,H, Yo 1
Q2. DNA is the carrier of hereditary information from parents to the next generation
/| Hereditary material present in all living cells. 1 1
Qs. Forests
Ponds,
Lakes (or any other) (any two) Yo, Ys 1
Q4. Diagram 1
Ei'.u:ulmr;t;:
Labeling 1 2
Q5. Two advantages -
(i) Provides the resources for the present generation:. Yo
(i) Preserve the resources for the future generation as well. Yo
Reuse is better than recycling because it does not involve use of energy. Yo, % 2
Q6. Advantages of ground water —
I. It does not evaporate.
Il.  Spreads out to recharge wells.
I1l.  Provides moisture for vegetation over a large area.
IV.  Does not provide breeding ground for mosquitoes.
V. Remain protected from contamination from human excreta, etc..
(any four) Yo x4 2
Q7. | e FEthene Ya
H H
N /
H’C _C\H
Yo
e Conc. H,SO, acts as a dehydrating agent. 1
Conc.H,S0,
o CH3CHQOH — C2H4 + Hzo 1 3
443K
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Q8. An atom or a group of atoms / heteroatoms which determine the chemical
properties of an organic compound. 1
Name Structural Formula Functional Group
Ethanol H H -OH
| 1
H-C-C-O-H
H Yo, %
Ethanoic acid 'T IOI -COOH O
H—C— C—OH / _("3_011
|-|| Yo, Y 3
Qo. Electronic configurationof Q:2,8, 3 )
Valency of Q : 3 Yo
Electronic configurationof R:2,8.5 )
Valency of R : 8-5=3 Yo
Electronic config. of P: 2, 8,1
Electronic configof S:2,8,7
Formula : PS/ NaCl 1 3
Q10.
(i) E Ys
@iy B Ys
(i) C Ys
(iv) B, because atomic radius decreases from left to right due to increase in
the nuclear charge. Yo, Y
(v) Noble Gases Yo 3
Q11.
Ovule
\ / Drawing 1
Four correct labeling, viz., ovary, male germ cell, female germ cell and ovule x4 3
Q12. | Three advantages of vegetative propagation —
i) Plants which do not produce viable seeds can be produced by this
method.
i) Plants raised by this method can bear flowers and fruits earlier than
those produced from seeds.
iii) The characters (traits) of the parent plant can be preserved by this
method.
iv) It is cheap, easier and more rapid method of propagation.
v) Superior quality of plants can be obtained
(any three) 1x3 3

Foreign —31/2/3 Page 3

0B365-Question Bank Software




QB365-Question Bank Software

Q13. | e Placenta is a specialized tissue embedded in the uterine wall. It contains villi
on the embryo’s side and blood spaces on the mother’s side. 1x2
Function- helps in exchange of nutrients, gases and waste materials between the
mother and embryo / foetus. 1 3
Q14. | e Yes, itis possible. 1
Example — When pure tall pea plants are crossed with pure dwarf pea plants,
only tall pea plants are obtained in F1 generation. Yo
On selfing tall plants of F1, both tall and dwarf plants are obtained in F2
generation in the ratio 3:1. Ya
Reappearance of the dwarf character, a recessive trait in F2 generation shows
that the dwarf trait/ character was present in individuals of F1 but it did not
express (due to the present of tallness, a dominant trait / character) 1 3
Q15. | ¢ Flow chart
Parent Ml el s Y
arents e 0
Samelos ; ;,
3 @),
v v ’
£y =
b Le
i & A
Cffspring '5} L || tt
2 S E
FRR .l K L Y
Femahe il
e Justification: Women produce only one type of ovum / (carrying X
chromosome) and males produce two types of sperms (carrying
either X or Y chromosome) in equal proportions. So the sex of a
child is a matter of chance depending upon the type of sperm
fertilizing the ovum. 1 3
Q16. |1i) Concave mirror Yo
i) u=-20cm; v=-80cm; m=?
V —
n_ v __(-80cm) _ ,
u (—20cm) 1
i) v-u=60cm Yo
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Q17.

Q18.

Q19.

Q20.
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. Due to atmospheric refraction, the sun is visible to us about two minutes
before the actual sun-rise and about two minutes after the actual sun-set

e Ina food chain the energy moves progressively through the various trophic
levels and is no longer available to the organisms of the previous trophic
level / energy captured by the autotrophs does.not revert back to the solar
input.

e Pesticides used for crop protection when washed away / down into the soil /
water bodies absorbed by plants / producers.

e On consumption they enter our food chain and being non — biodegradable
these chemicals get accumulated progressively and enter our body.

Speciation - formation of new species from pre-existing ones.

Factors —

1) Mutations

2) Natural selection

3) Genetic drift

4) Geographical Isolation

Geographical isolation cannot be a major factor in the speciation of a self
pollinating plant species.

Reason — physical barrier cannot be created in self pollinating plants.

a) A - Stigma
B —Pollen tube
C - Ovary
D — Female germ cell / Egg cell
b) Pollination — Transfer of pollen grains from anther to the stigma of a
flower.
Significance of pollination — Process of pollination leads to fertilization as it
brings the male and female gametes together for fusion.

c) After a pollen falls on a suitable stigma, the pollen tube grows out of the
pollen grain and travels through the style to reach the ovule in the ovary. Here
the male germ cell (carried by the pollen tube) fuses with the female germ cell
to form a zygote.

i) Ovule
ii) Ovary
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Q21. | e Power of lens — Ability of a lens to converge or diverge light rays/ Degree
of convergence or divergence of light ray achieved by a lens/ Reciprocal of
focal length of the lens) 1
e S. 1. unitis dioptre Y
e Convex lens has positive power Ya
e v=+40cm; h'=h
The lens is convex/ converging 1
Image is real, inverted and same sized
.. object is at 2F Ya
2f=40cm - f=20cm
1 1 .
P=—= 00 = Sdioptre
f 20cm VA
[ )
1 5
Q22. | ¢« h=+15cm; f=-12cm; u=-18cm V=7 h'=?
1 11
Q) —=—+—
f v u Yo
1.1 11 L
v f u  (-12) (-18) A
LSzl
12 18 36 36
. V=-36Ccm 1
b) h'=—Yxh
u
=- — 360y x1.5 cm =-3cm (Magnified Inverted image)
—18cm 1
e Ifu=-10cm
No distinct image would be formed on the screen. In this case the image
formed will be virtual (object will be within focal length) 1
® Mg A
e To)
F B r. F [H
o 1 5
Q23. | e i) Cornea - Refraction of the light rays falling on the eye.
i) lris — To control the size of the pupil.
!“) PuIO_II — To regulate and control the amount of light entering the eye.
Iv) Retina  _ T act as a screen to obtain the image of object and generate
electrical signals which are sent to the brain via optic nerves. | %2 x4
o Ways of motivating people for the noble cause of eye donation street play,
Banners, Poster, door to door campaign etc.. 3
Foreign —31/2/3 Page 6

QB365-Question Bank Software



Q24.

Q34.

Q35.

Q36.
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o Objectives —
To develop the habit of group work
To work for a common cause
To understand social issues and problems.

Carbon has 4 electrons in its outermost shell .1t cannot lose 4 electrons to form

C * because very high energy is required to remove 4 electrons.

It cannot gain 4 electrons to form C* ions because it is difficult for 6 protons to

hold on to 10 electrons.

e lonic / Electrovalent Bonds

e Covalent bonds.

e There are no charged particles in carbon compounds and hence poor
conductors of electricity.

SECTION-B

25) B 26) D 27) A
28) B 29) C 30)C
31)D 32)D 33)A

Inverted, magnified

e

: . : :
O
<—300m \\\\

e Acetic acid is a colorless liquid.

It is miscible / soluble in water.
(or any other physical property)

e On adding a pinch of sodium hydrogen carbonate,

Brisk effervescence is observed.
Evolution of a colorless / odourless gas.

(.9 (9
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1%
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Yo

1x9

Yo
Yo
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